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10.2.47 The graph of the given equation is an ellipse. Find the distance between the x-intercepts and the
distance between the y-intercepts. Decide which distance is longer. How much longer is the longer
distance than the shorter distance?
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Determme whlch dlstance is longer

'~ distance between the x-intercepts
&  distance between the y-intercepts

How much longer is the longer distance than the shorter distance?
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10.2.61 A planet's orbit about the a certain star can be described as an ellipse. Consider this star to be the
— origin of a rectangular coordinate system. Suppose that the x-intercepts of the elliptical path of the
planet are + 150,000,000 and that the y-intercepts are * 135,000,000. Write the equation of the
elliptical path of the planet.
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2
- . y
The eliptical path of the planet is E— + E‘* =1.
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10.3.1

Solve the nonlinear system of equations for real solutions.

x? +y? =125 3 , No (i ke Jerms—b ~liminate,
{3x +4y =0 & Vee subshtulion vwetiod.

Select tﬁe correct choice beloW and, if neceésary, fill in the answer box to complete your choice.

OA.

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed. Type
exact answers for each coordinate, using radicals as needed.)

\

@ B. There is no solution.

Solve B For o vorialde — I choose -
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